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3) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
1) ImÚ Vobm§darb amï´>r¶ {‘eZ-Vob nm‘ ............. ‘Ü¶o gwê$ H$aÊ¶mV Ambo.

1) Am°JñQ>, 2020 2) Am°JñQ>, 2019 3) Am°JñQ>, 2022 4) Am°JñQ>, 2021
1) National Mission on Edible oil-oil palm was launched in

1) August, 2020 2) August, 2019 3) August, 2022 4) August, 2021

2) H¥$fr Am{U eoVH$ar H$ë`mU ‘§Ìmb`, JmdmgmR>r EHy$U A§XmOnÌH$ {H$Vr Amho. ^maVmMm, 2022-23 À`m H|$Ðr`
AW©g§H$ënmV?
1) 132513.62 H$moQ>r 2) 225025.07 H$moQ>r
3) 328011.13 H$moQ>r 4) 117308.20 H$moQ>r

2) How much is the total budget estimate for Ministry of Agriculture and Farmers’ Welfare, Gowt.

of India, in the Union Budget for 2022—23 ?

1) 132513.62 Crores 2) 225025.07 Crores

3) 328011.13 Crores 4) 117308.20 Crores

3) ~iramOm Ocg§OrdZr ¶moOZo A§VJ©V {H$Vr àH$ënm§Zm ‘mÝ¶Vm XoÊ¶mV Amcocr Amho?
1) 100 2) 150 3) 91 4) 85

3) How many projects have been approved under Baliraja Jalsanjeevani Yojana?

1) 100 2) 150 3) 91 4) 85

4) àYmZ‘§Ìr ’$gb {d‘m `moOZm (PMFBY) ‘Ü ò W«oehmoëS> CËnÞmMr JUZm gdm}Îm‘ gamgar åhUyZ Ho$br OmVo
........... dfmªMo CËnÞ ‘mJrb ......... dfmªÀ`m CËnÞmn¡H$s.
1) 3, 5 2) 5, 10 3) 57 4) 7, 10

4) In Pradhan Mantri Fasal Bima Yojana (PMFBY) threshold yield is calculated as an average of best

........... years yield out of last .......... years yield.

1) 3, 5 2) 5, 10 3) 57 4) 7, 10

5) 2018-19 À`m H|$Ðr` AW©g§H$ënmV E‘Egnr CËnmXZ IMm©À`m {H$Vr nQ> nmVirda R>odÊ`mMo nyd©{ZpíMV VÎd Omhra
Ho$bo hmoVo?
1) 1.25 2) 1.50 3) 1.75 4) 2.00

5)  The Union Budget for 2018—19 had announced the predetermined principle to keep MSP at the

level of how much times that of the cost of production ?

1) 1.25 2) 1.50 3) 1.75 4) 2.00

6) {S>g|~a 2021 n ª̀V ‘hmamï´> amÁ`mVrb {H$Vr APMCse-NAM `m g§nyU© ^maVmVrb BboŠQ´m°{ZH$ QóqS>J nmoQ>©bgmo~V
EH${ÌV AmhoV?
1) 76 2) 118 3) 180 4) 228

6) How many APMCs in Maharashtra State are integrated with e-NAM, a pan-India electronic trading

portal, up to Dec. 2021 ?

1) 76 2) 118 3) 180 4) 228
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7) 2021-22 ‘Yrb ‘hmamï´>mVrb {Z`m©V ‘yë`mZwgma {nH$m§Mr H«$‘dmar Owidm.
H«$m°n Zo‘ a±qH$J ({Z`m©VrÀ`m ‘yë`mZwgma)
a) Am§~m I) 5 dm
b) Ðmjo II) 2am
c) g§Ìm III) 3am
d) Ho$ir IV 4 Wm
e) H$m§Xm V) 18
n`m©¶r CÎmao :

(a) (b) (c) (d) (e)

1) (V) (II) (III) (IV) (I)

2) (I) (III) (IV) (V) (II)

3) (V) (I) (IV) (III) (II)

4) (V) (I) (III) (II) (IV)

7) Match the ranking of crops as per value exports from Maharashtra in 2021-22.

Crop Name Ranking (As per value of export)

a) Mango I) 5th

b) Grapes II) 2nd

c) Orange III) 3rd

d) Banana IV) 4th

e) Onion V) 18

Answer options:

(a) (b) (c) (d) (e)

1) (V) (II) (III) (IV) (I)

2) (I) (III) (IV) (V) (II)

3) (V) (I) (IV) (III) (II)

4) (V) (I) (III) (II) (IV)

8) aoer‘ eoVrgmR>r (Bar, VwVr, Vwgma) amï´>r` AmnÎmr à{VgmX {ZYr (NDRF) A§VJ©V BZnwQ> g~{gS>r (OoWo nrH$ ZwH$gmZ
33% Am{U Ë`mhÿZ A{YH$ Amho) Amho.
1) 4800 à{V hoŠQ>a 2) 6000 à{V hoŠQ>a 3) 6800 à{V hoŠQ>a 4) 13500 à{V hoŠQ>a

8)  Input subsidy (where crop loss is 33% and above) under National Disaster Response Fund (NDRF)

for sericulture (Eri, Mulberry, Tussar) is

1) 4800 per ha. 2) 6000 per ha 3) 6800 per ha 4) 13500 per ha

9) "BQ>mdm nm`bQ> àmoOoŠQ>'Mo àUoVo H$moU hmoVo?
1) Eg.Ho$.S>o 2) Aë~Q>© ‘ò a 3) E’$.Eb. Brayne 4) S>m°. ñnoÝga h°M

9) Who was the pioneer of ‘Etawah Pilot Project’ ?

1) S.K.Dey 2) Albert Mayer 3) F.L. Brayne 4) Dr. Spencer Hatch

10) H$mOy ’$i{nH$ {dH$mg ¶moOZm H$moëhmnya {OëømVrc Imcrcn¡H$s H$moUË¶m Vmcw³¶mV am~{dÊ¶mV ¶oV Zmhr?
1) ^yXaJS> 2) amYmZJar 3) JS>qh½cO 4) H$adra

10) In which of the following taluks of Kolhapur district is the cashew nut orchard development

scheme not being implemented?

1) Bhudargarh 2) Radhanagari 3) Gadhinglaj 4) Karveer
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11) 2021-22 ‘Ü ò ^maVmVrb ~mOar {Z`m©V H$aUmè`m XmoZ à‘wI Xoem§n¡H$s H$moUVo Xoe (E‘Q>rÀ`m à‘mUmV) AmhoV?
1) g§̀ wº$ Aa~ A{‘amVr Am{U ẁZm`Q>oS> ñQ>oQ²g Am°’$ A‘o[aH$m
2) g§̀ wº$ Aa~ A{‘amVr Am{U Zonmi
3) MrZ Am{U g§̀ wº$ Aa~ A{‘amVr
4) MrZ Am{U O‘©Zr

11) Which of the following are top two millet exporting destination countries (in terms of quantity

MT) of India in 2021-22 ?

1) United Arab Emirates and United States of America

2) United Arab Emirates and Nepal

3) China and United Arab Emirates

4) China and Germany

12) ì`mnmamÀ`m dm{f©H$ {díbofUmgmR>r amï´>r` Am`mV-{Z`m©V aoH$m°S>©Zwgma; 2021-22 `m Am{W©H$ dfm©V H¥$fr ‘mbmÀ`m
{Z`m©VrÀ`m ‘yë`mÀ`m ~m~VrV Imbrbn¡H$s H$moUVo amÁ` n{hë`m VrZ amÁ`m§‘Ü ò Amho?
1) JwOamV, ‘hmamï´> Am{U Am§Y« àXoe 2) ‘hmamï´>, Am§Y« àXoe Am{U CÎma àXoe
3) JwOamV, ‘hmamï´> Am{U CÎma àXoe 4) JwOamV, ‘hmamï´> Am{U H$Zm©Q>H$

12) As per National Import-Export record for yearly analysis of trade; which of the following States

ranks among top three in respect of value in share of export in agriculture commodity in financial

year 2021 —22 ?

1) Gujarat, Maharashtra and Andhra Pradesh

2) Maharashtra, Andhra Pradesh and Uttar Pradesh

3) Gujarat, Maharashtra and Uttar Pradesh

4) Gujarat, Maharashtra and Karnataka

13) Imbrbn¡H$s H$moUË`m {nH$m§À`m {Z`m©Vr‘wio ^maVmV d¡km{ZH$ eoVr gwê$ Pmbr?
1) gỳ ©’y$b, ‘mohar, H$aS>B© 2) Jhÿ, Vm§Xyi, ~mbu
3) D$g, H$mnyg, V§~mIy 4) H$mnyg, Mhm, VmJ

13) Which of the following crops export has began the scientific agriculture in India ?

1) Sunflower, Mustard, Safflower 2) Wheat, Rice, Barley

3) Sugar cane, Cotton, Tobacco 4) Cotton, Tea, Jute

14) H|$Ð gaH$maZo Omhra Ho$ë¶mZwgma 2023-24 ‘Ü¶o Imbrbn¡H$s H$moUË¶m {nH$mMr, {H$‘mZ AmYma ŷV qH$‘V (MSP)

gdm©V H$‘r hmoVr?
1) Jhÿ 2) ‘H$m 3) ^mV 4) Vya

14) Which of the following crops had the minimum support price (MSP) in the year 2023-24 as

announced by Central Government?

1) Wheat 2) Maize 3) Paddy 4) Tur

15) Imcrcn¡H$s H$moUVo à‘wI YmoaUmË‘H$ hñVjon ho ^maVmVrc ŷ-gwYmaUm§Mm ^mJ hmoVo  ?
A) ‘Ü¶ñWm§Mo {Z‘y©cZ ~) Hy$i nÕVr gwYmaUm
H$) O‘rZ YmaUoda H$‘mc ‘¶m©Xm {ZpíMVr S>) ŷ-YmaUm§Mo EH$ÌrH$aU
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, ~ Am{U S> 4) darcn¡H$s gd©
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15) Which of the following major policy interventions are the part of the land reforms in India ?

a) Abolition of intermediaries b) Tenancy reforms

c) Fixing ceilings on land holdings d) Consolidation of land holdings

Answer Options :

1) a, b andc 2) b, c and d 3) a, b and d 4)  All of the above

16) ‘hmamï´> A°J«r{~PZog ZoQ>dH©$ (‘°¾oQ>) àH$ënm~m~V Imcrc {dYmZo {dMmamV KoD$Z CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>.
A) hr ¶moOZm H¥$fr {d^mJm‘m’©$V am~{dÊ¶mV ¶oVo.
~) gXa àH$ënmV amÁ¶mVrc 10 ’$cmoËnmXZ {nH$m§Mm g‘mdoe Amho.
H$) gXa ¶moOZm Am{e¶mB© {dH$mg ~±H$ AW©ghmæ¶rV Amho.
n¶m©¶r CÎmao :
1) ’$º$ A ~amo~a 2) ’$º$ ~ d H$ ~amo~a
3) A, ~ d H$ {VÝhr ~amo~a 4) A, ~ d H$ {VÝhr MyH$

16) Select the correct answer option considering the following statements regarding the Maharashtra

Agribusiness Network (Magnet) project.

a) This scheme is implemented through the Department of Agriculture.

b) The said project covers 10 horticulture crops of the state.

c) The said scheme is funded by Asian Development Bank.

Answer options :

1) Only A is correct 2) Only B and C are correct

3) A, B and C are all three correct 4) A, B and C are all three wrong

17) Imbrbn¡H$s H$moUVm H$m`Xm ñnï> H$aVmo, Ogo ìho[aE~b BZnwQ>Mo A{V[aº$ ẁ{ZQ²g EH$ qH$dm A{YH$ {Z{l²MV
BZnwQ²gÀ`m g§̀ moOZmV dmnabo OmVmV, gr‘m§V ^m¡{VH$ CËnmXZ AIoarg H$‘r hmoÊ`mg gwadmV hmoB©b?
1) KQ>Umè`m naVmì`mÀ`m {Z`‘ 2) g‘Vwë` naVmì`mÀ`m {Z`‘
3) {H$aH$moi ^m¡{VH$ CËnmXZmMm {Z`‘ 4) dmT>Ë`m CËnÞmMm {Z`‘

17) Which of the following law explains, “As additional units of variable inputs are used in combination

with one or more fixed inputs, the marginal physical product will eventually begin to decline” ?

1) Law of diminishing returns 2) Law of equimarginal returns

3) Law of marginal physical product 4) Law of increasing returns

18) Imbrbn¡H$s H$moUVo H$O© ñd-{Z‘y©bZ H$O© Amho?
1) XrK© ‘wXVrMo H$O© 2) nrH$ H$O© 3) ‘Ü`‘ ‘wXVrMo H$O© 4) M°Q>ob H$O©

18) Which of the following loan is a self-liquidating loan ?

1) Long term loan 2) Crop loan 3) Medium term loan 4) Chattel loan

19) A{YH$ eoVH$ar nrH$ {då`mgmR>r H$m OmV AmhoV?
1) eoVH$è`m§Zm {nH$m§À`m ZwH$gmZrnmgyZ g§ajU
2) AmYw{ZH$ V§ÌkmZmMm Adb§~ H$aÊ`mMm AmË‘{dl²dmg Úm
3) {nH$m§Mr VnmgUr H$aUo Am{U ZwH$gmZ {Z{l²MV H$aUo H$R>rU Amho
4) d¡̀ {º$H$ eoVH$è`m§gmR>r {à{‘`‘Mm Xa {Z{l²MV H$aUo H$R>rU
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19) Why more farmers are going for crop insurance ?

1) Protection to farmers against failure of crops

2) Provide confidence to adopt modern technology

3) ltis difficult to inspect crops and determine damage

4) Difficult to fix rate of premium for individual farmers

20) {d{dY Am§Va{nH$m§Mo CËnÞ CËnmXZmÀ`m {H$‘Vrda AmYm[aV H$moUË`mhr EH$m {nH$mÀ`m g‘Vwë` CËnÞm‘Ü ò ê$nm§V[aV
H$ê$Z Imbrbn¡H$s H$moUVo ‘moObo OmVo?
1) gmnoj EHy$U CËnÞ 2) O‘rZ g‘Vwë` JwUmoÎma
3) nrH$ g‘Vwë` CËnÞ 4) EH$m{YH$ nrH$ {ZX}em§H$

20) Which one of the following is calculated by converting the yields of different intercrops into

equivalent yield of any one crop based on price of the produce ?

1) Relative total yield 2) Land equivalent ratio

3) Crop equivalent yield 4) Multiple cropping index

21) APEDA Mo nyU© ê$n Amho -
1) H¥$fr Am{U à{H«$`m Ho$bobo AÞ CËnmXZo {Z`m©V {dH$mg àm{YH$aU
2) H¥$fr Am{U à{H«$`m Ho$bobo AÞ CËnmXZo ‘yë`‘mnZ Am{U {dH$mg àm{YH$aU
3) H¥$fr CËnmXZ Am{U AÞ CËnmXZo {Z`m©V {dH$mg àm{YH$aU
4) H¥$fr à{H«$`m, ‘yë`‘mnZ Am{U {dVaU àm{YH$aU

21) The full form of APEDA is -

1) Agricultural and Processed Food Products Export Development Authority

2) Agricultural and Processed Food Products Evaluation and Developmentm Authority

3) Agricultural Production and Food Products Export Development Authority

4) Agricultural Processing, Evaluation and Distribution Authority

22) BOmMr gdm©V ImbMr nmVir {OWo ZwH$gmZ ‘moObo OmD$ eH$Vo Ago åhUVmV -
1) ETL 2) EIL 3) ZwH$gmZ gr‘m (DB) 4) ZwH$gmZ

22) The lowest level of injury where damage can be measured is called -

1) ETL 2) EIL 3) Damage Boundary (DB) 4) Damage

23) EH$mpË‘H$ eoVr nÕVrMo C{Ôï> Amho -
1) eoVmVrb {Z{dð>m OmñVrV OmñV ~XbUo
2) A{YH$ CËnmXZmgmR>r OmñVrV OmñV IVm§Mm d qgMZmMm dmna H$aUo
3) ’$º$ EH$b eoVr CÚmoJmda bj H|${ÐV H$aUo
4) darbn¡H$s Abr

23) The objective of integrated farming system is -

1) To achieve maximum replacement of off farm inputs

2) To use maximum fertilizers and irrigation for higher production

3) To concentrate only on single farm enterprise

4) Ali of the above



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ^maVr¶ AW©ì¶dñWm / 24

For Private Circulation Only

24) {d{dY Am§Va{nH$m§Mo CËnÞ CËnmXZmÀ`m {H$‘Vrda AmYm[aV H$moUË`mhr EH$m {nH$mÀ`m g‘Vwë` CËnÞm‘Ü ò ê$nm§V[aV
H$ê$Z Imbrbn¡H$s H$moUVo ‘moObo OmVo?
1) gmnoj EHy$U CËnÞ 2) O‘rZ g‘Vwë` JwUmoÎma
3) nrH$ g‘Vwë` CËnÞ 4) EH$m{YH$ nrH$ {ZX}em§H$

24) Which one of the following is calculated by converting the yields of different intercrops into

equivalent yield of any one crop based on price of the produce ?

1) Relative total yield 2) Land equivalent ratio

3) Crop equivalent yield 4) Multiple cropping index

25) AMyH$ eoVrMo Ü ò̀  Amho
a) Cƒ BZnwQ> - Cƒ AmD$Q>nwQ> b) H$‘r BZnwQ> na§Vw gVV AmD$Q>nwQ>
c) Am°pßQ>‘mBP Ho$bobo BZnwQ> - AmD$Q>nwQ> d) H$‘r BZnwQ> - H$‘r AmD$Q>nwQ>
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) a ’$º 2) b ’$º$ 3) c ’$º$ 4) a Am{U d ’$º$

25) Goal of precision farming is

a) High input — high output b) Low input but constant output

c) Optimised input — output d) Low input — low output

Which of the above statement/s is/are correct ?

1) a only 2) b only 3) c only 4) a and d only

26) dfm©Zwdf} XaS>moB© CËnÞmMr nmVir gwYmaV AgVmZm eoVrda Adb§~yZ Agboë`m l‘eº$sMo à‘mU H$‘r hmoVo na§Vw Vo
............ Am{U godm joÌmV dmTV OmVo.
1) ì`mnma 2) ì`dgm` 3) gmdH$ma 4) CÚmoJ

26) As the level of per capita income improves over the years the proportion of labour force dependent

on agriculture declines but that on ........... and services increases.

1) trading 2) business 3) money lender 4) industry

27) Imbrbn¡H$s H$moUVo ’$m‘© ’$m`ZmÝg VÎdo 7 nr ‘Ü ò g‘m{dï> ZmhrV?
1) ì`{º$‘ÎdmMo VÎd 2) `mo½` dmnamMo VÎd
3) naV’o$S>rMo VÎd 4) AZwXmZmMo VÎd
5) CËnmXH$VoMo VÎd 6) X§S> ì`mOmMo VÎd
7) g§ajUmMo VÎd 8) Q>ßß`mQ>ßß`mZo {dVaUmMo VÎd
n¶m©¶r CÎmao …
1) 2 Am{U 7 2) 3 Am{U 5 3) 3 Am{U 1 4) 4 Am{U 6

27) Which of the following principles of farm finance is not included in 7Ps ?

1) Principle of personality 2) Principle of proper utilization

3) Principle of repayment 4) Principle of subsidy

5) Principle of productivity 6) Principle of penal interest

7) Principle of protection 8) Principle of phased disbursement

Answer options :

1) 2 and 7 2) 3 and 5 3) 3 and 1 4) 4 and 6
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28) PKVY Mo à‘wI joÌ g|{Ð` eoVrbm àmoËgmhZ XoV Amho Á`m‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho.
A) eoVH$è`m§‘Ü ò g|{Ð` eoVrbm àmoËgmhZ Úm
~) g|{Ð` eoVrVrb Z{dZV‘ V§ÌkmZmMm àgma H$am
H$) gmd©O{ZH$ H¥$fr g§emoYZ àUmbrVrb VÁkm§À`m godm§Mm dmna H$am
S>) JmdmV {H$‘mZ EH$ ŠbñQ>a àmË`{jH$ Am`mo{OV H$am
n`m©¶r CÎmao :
1) Mmahr {dYmZo ~amo~a AmhoV 2) {dYmZ (H$) MyH$ Amho
3) ’$º$ {dYmZ (A) Am{U (~) ~amo~a AmhoV 4) ’$º$ {dYmZ (A) ~amo~a Amho

28) Key thrust areas of PKVY is promoting organic farming which includes the following.

a) Promote organic farming among farmers

b) Disseminate latest technology in organic farming

c) Utilize the services of experts from Public Agricultural research system

d) Organize a minimum of one cluster demonstration in village

Answer options :

1) All four statements are correct 2) Statement (c) is wrong

3) Only statement (a) and (b) are correct 4) Only statement (a) is correct

29) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoMo (PMKSY) à‘wI KQ>H$ AmhoV.
1) àdoJH$ qgMZ bm^ H$m ©̀H«$‘ (AIBP) 2) ha IoV H$mo nmZr (HKKP)

3) à{V S´m°n ‘moAa H«$m°n (PDMC) 4) darb gd©
29) Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

1) Accelerated Irrigation Benefit Program (AIBP)

2) Har Khet Ko Pani (HKKP)

3) Per Drop More Crop (PDMC)

4) All of the above

30) ........... Xbmb Am{U AmèhmQ>tH$Sy>Z eoVH$è`m§Mo gd© emofU Xya H$aÊ`mgmR>r dmOdr XamMr h‘r XoVo.
1) ‘mH}$Q> `mS>© 2) {d{Z`{‘V ~mOma 3) ghH$mar {dnUZ 4) AmR>dS>r ~mOma

30) ....... assures reasonable prices so as to remove all exploitation of the farmers by dalals and arhatiyas.

1) Market yard 2) Regulated market

3) Co-operative marketing 4) Weekly markets

31) àYmZ‘§Ìr ’$gb {d‘m `moOZoÀ`m g§X^m©V Imbrb {dYmZmMm {dMma H$am.
A) `m `moOZ|VJ©V eoVH$è`mZo H$moUË`mhr h§Jm‘mV KoVboë`m {nH$mgmR>r XmoZ Q> o̧$ EH$g‘mZ àr{‘`‘ ^amdm bmJob.
~) `m `moOZoV MH«$sdmXi, AdH$mir nmD$g `m§‘wio H$mnUrZ§VaMo ZwH$gmZ g‘m{dï> Amho.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) XmoÝhrn¡H$s EH$ qH$dm ~ Zmhr

31) With reference to Pradhan Mantri Fasal Bima Yojana, consider the following statement.

a) Under this scheme farmer will have to pay uniform premium of two per cent for any crop they

cultivate in any season.

b) The scheme covers post harvest losses arrising out of cyclones, unseasonal rains.

Which of the statement/s given above is/are correct ?

1) a only 2) b only 3) both a and b 4) Neither anor b



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ^maVr¶ AW©ì¶dñWm / 26

For Private Circulation Only

32) AmOr{dH$m J«m‘rU EŠgàog `moOZm (AGEY) J«m‘rU ^mJmV gwa{jV, nadS>Umar Am{U gm‘wXm{`H$ {ZarjU Ho$boë`m
dmhVyH$ godm àXmZ H$aVo. dmhZo Ë`m§À`m ‘mbH$sMr Am{U MmbdVmV
1) J«m‘n§Mm`V 2) ghH$mar g§ñWm
3) ñd §̀-‘XV JQ>mMo gXñ` (SHG) 4) darbn¡H$s H$mhrhr Zmhr

32) Aajeevika Grameen Express Yojana (AGEY) provides safe, affordable and community monitored

transport services to rural areas. The vehicles are owned and operated by

1) Grampanchayat 2) Co-operative society

3) Member of Self-Help Group (SHG) 4) 4) None of the above

33) KCC `moOZoMm CÔoe Imbr Xe©{dë`mà‘mUo eoVH$è`m§Zm Ë`m§À`m JaOm§gmR>r ~±qH$J àUmbrH$Sy>Z nwaogm Am{U doioda
H«o${S>Q> ghmæ` àXmZ H$aUo Amho.
a) {nH$m§À`m bmJdS>rgmR>r Am{U H$mT>UrZ§VaÀ`m IMm©gmR>r AënH$mbrZ H$Om©Mr Amdí`H$Vm nyU© H$aÊ`mgmR>r.
b) {dnUZ H$O© CËnmXZ.
c) eoVH$ar Hw$Qw>§~mÀ`m dmnamÀ`m JaOm.
d) eoVrÀ`m ‘mb‘ÎmoÀ`m XoIaoIrgmR>r IoiVo ^m§S>db Am{U eoVrer g§~§{YV {H«$`mH$bmn.
e) H¥$fr Am{U g§b¾ {H«$`mH$bmnm§gmR>r Jw§VdUyH$ H«o${S>Q>Mr Amdí`H$Vm.
darbn¡H$s H$moUVo {dYmZ/Zo/`mo½`/gË` Amho?
1) a, b, c, d, e 2) a, b, c ’$º$ 3) a, b, c, e ’$º$ 4) a, b, c, d ’$º$

33) The KCC Scheme aims at providing adequate and timely credit support from banking system to

the farmers for their needs as indicated below.

a) To meet the short term credit requirement of cultivation and post harvest expenses of crops.

b) Produce marketing loan.

c) Consumption requirements of farmer household.

d) Working capital for maintenance of farm assets and activities allied to agriculture.

e) Investment credit requirement for agriculture and allied activities.

Which of the above statement/s is/are correct/true ?

1) a, b, c, d, e 2) a, b, c only 3) a, b, c, e only 4) a, b, c, d only

34) `mo½` OmoS>çm Owidm :
    ̀ moOZm                                       CÔoe
i) nrE‘-Amem a) nrEgEg A§VJ©V Vob {~`mUo Am{U H$S>YmÝ ò IaoXr H$aUo Am{U ’$m`Xoera {H$‘Vr

àXmZ H$aUo
ii) E‘Am¶Eg-nrEgEg b) nrEgEg, nrS>rnrEg Am{U nrnrEgEg Mm g‘mdoe Agboë`m eoVH$è`m§Zm E‘Egnr

gw{Z{üV H$aÊ`mgmR>r
iii) nrE‘-{H$gmZ c) eoVH$ar Hw$Qw>§~m§Zm CËnÞmMm AmYma XoÊ`mgmR>r
iv) nrE‘OrEgdm` d) H$ZopŠQ>pìhQ>r gwYmaÊ`mgmR>r J«m‘rU añVo {dH$mg
Vo H$‘r BZnwQ>gh dmT>{dbo OmD$ eH$VmV
n`m©¶r CÎmao :
1) i-a ii-b iii-c iv-d 2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d 4) i-c ii-b iii-a iv-d
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34) Match the correct pairs :

     Schemes                                    Purpose

i) PM-AASHA a) procurement of oil seed and pulses under PSS and provide remunerative

prices

ii) MIS-PSS b) to ensure MSP to farmers comprising of PSS, PDPS and PPSS

iii) PM-KISAN c) to provide income support to farmer families

iv) PMGSY d) rural road development to improve connectivity

They can be grown with fewer inputs

Answer options :

1) i-a ii-b iii-c iv-d 2) i-a ii-d iii-b iv-c

3) i-b ii-a iii-c iv-d 4) i-c ii-b iii-a iv-d

35) nrH$ {d{dYrH$aU H$m¶©H«$‘ 2013-14 nmgyZ ............ Mr Cn¶moOZm åhUyZ am~{dÊ¶mV Ambm.
1) Am°naoeZ J«rÝg 2) amï´>r¶ H¥${f {dH$mg ¶moOZm
3) EH$ {Oëhm EH$ CËnmXZ 4) ^maVr¶ àmH¥${VH$ H¥${f nÕVr ¶moOZm

35) Crop Diversification Programme was implemented since 2013-14 as a sub-scheme of

1) Operation Greens 2) Rashtriya Krishi Vikas Yojana

3) One District One Product 4) Bharatiya Prakrituik Krishi Pandhati Programme

CÎmao … 3) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ

1-4 2-1 3-3 4-3 5-2 6-2 7-3 8-2 9-2 10-4

11-2 12-3 13-3 14-2 15-4 16-2 17-1 18-2 19-1 20-3
21-1 22-3 23-1 24-3 25-3 26-4 27-4 28-1 29-4 30-3
31-2 32-3 33-1 34-3 35-2


